BSAD-KUNNR = KNA1-KUNNR

_——

0.N )
"\ _BSAD-CESSION KZ = TCESSION-CESSION KZ

—_——

SAP ABAP table BSAD {Accounting: Secondary Index for Customers (Cleared Items)}

KNAl

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

KNB1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

o
!
Z,

BUKRS [CHAR (4)]

TO14
MANDT [CLNT (3)]
KKBER [CHAR (4)]

TO42F

MANDT [CLNT (3)]

UZAWE [CHAR (2)]

T8JA
MANDT [CLNT (3)]
BILIND [CHAR (2)]

T8JF

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

EGRUP [CHAR (3)]

T8V

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

TCESSION

CLIENT [CLNT (3)]

COMPANY [CHAR (4)]

CESSION _KZ [CHAR (2)]

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]




